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|PARTER lokal nr 1|

ZESTAWIENIE POWIERZCHNI

A ———

[ e s e e e e e

I
| NAZWA POMIESZCZENIA | POW. POM.(m) :
_________________ ———
1 Wiatrotap I 3,50 :
2 Korytarz z kl.schodowg 9,18 |
3 Kuchnia z jadalnig : 14,50 I
4 Salon | 20,50 '
5 WC | 3,45 |

_________________ -
51,13m* |

PARTER lokal nr 2

ZESTAWIENIE POWIERZCHNI

—_—————— —

—— e

|

| NAZWA POMIESZCZENIA | POW. POM.(m ) :
,,,,,,,,,,,,,,,,, s smee ]
1 Wiatrotap | 3,50 :
2 Korytarz z kl.schodowa 9,18 |
3 Kuchnia z jadalnig | 14,50 |
4 Salon | 20,50 '
5 WC | 3,45 |

,,,,,,,,,,,,,,,,, -
51,13 m* |



